Instrukcja montazu gmoli dla / Crash bars installation instruction for

ﬁkiad zestawu wchodzi (zgodnie z punktami na ilustracjach): \

Orurowanie dolne

1. Orurowanie dolne lewe.

2. Orurowanie dolne prawe.

3. Szpilka silnikowa 12x380 mm z 2 tulejkami dystansowymi 65 mm,
podktadkami i nakretkami.

. Sruba M8x60 mm z tulejkg dystansowa 32 mm i podktadka.

. Sruba M10x60 mm z tulejka dystansowa 16 mm i podktadka.

. Sruba M8x30 mm z podktadkami i nakretka.

. Sruba M8x40 mm z tulejkg dystansowa 16 mm i podktadka.

. Sruba M10x50 mm z tulejka dystansowa 12 mm i podktadka.

. Sruba M8x55 mm z tulejkg dystansowa 26 mm, podktadkami i
nakretka.

O oo NO U B

Orurowanie gorne (dostepne tylko w zestawach Full Bunkier)
10. Orurowanie gérne lewe.
11. Orurowanie gérne prawe.

12. 2 $ruby M8x10 mm z podktadka.

QZ Sruby M8x20 mm z podktadkami i nakretka. /

M=

www.heed.com.pl

Gurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwréch
szczegblng uwage na wigzki elektryczne, przewody hamulcowe oraz przewody gumowe
chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty podczas eksploatacji o
gmole z powodu Zle przeprowadzonego montazu orurowania.

Catos¢ orurowania zatozyé swobodnie dopiero na koncu skreci¢ docelowo.

1. Zdemontowac oryginalne orurowanie z motocykla.
2. Usung¢ oryginalng szpilke silnikowg i zastgpi¢ jg szpilka silnikowg 12x380 mm z
zestawu wraz z tulejkami dystansowymi (Rys. 1i 2 pkt. 3).
3. Zainstalowac orurowanie lewe dolne (Rys. 1i 2 pkt. 1):
- w tylnej gdrnej czesci orurowanie zaktadamy na zainstalowang w kroku 2 szpilke
silnikowg (Rys. 2. pkt. 3),
- w przedniej dolnej czesci przykrecic je srubg M8x60 mm z tulejg dystansowg 32 mm
(Rys. 3 pkt. 4),
- w tylnej dolnej czesci przykrecic je sSrubg M10x60 mm z tulejg dystansowg 16 mm
(Rys. 2i 3 pkt. 5),
- w przedniej gérnej czesci przykreci¢ orurowanie srubg M8x30 mm z podktadkami i
nakretka (Rys. 4 pkt. 6).
4. Zainstalowad orurowanie prawe dolne (Rys. 1i 5 pkt. 2):
- w tylnej gornej czesci orurowanie zaktadamy na zainstalowang w kroku 2 szpilke
silnikowg (Rys. 5 pkt. 3),
- w przedniej dolnej czesci przykrecic¢ je srubg M8x40 mm z tulejg dystansowg 16 mm
(Rys. 5 pkt. 7),
- w tylnej dolnej czesci przykrecic je sSrubg M10x50 mm z tulejg dystansowg 12 mm
(Rys. 5 pkt. 8),
- w przedniej gérnej czesci przykrecié orurowanie $rubg M8x55 mm z podktadkami i
nakretka (Rys. 6 pkt. 9).

W zestawach bez gérnego orurowanie nalezy pomina¢ kroki 5 i 6 i przejs¢ do kroku 7.
5. Zainstalowac orurowanie lewe goérne (Rys. 9 pkt. 10):
- w tylnej dolnej czesci orurowanie zaktadamy na zainstalowang w kroku 2 szpilke
silnikowg (Rys. 9 pkt. 3),
- w przedniej gérnej czesci przykreci¢ orurowanie Srubg M8x10 mm z podktadka (Rys. 7
i 9 pkt. 12),
- w przedniej dolnej czesci przykreci¢ do uchwytu w orurowaniu dolnym sruba
M8x20 mm z podkfadkami i nakretka (Rys. 4, 8 i 9 pkt. 13).
6. Analogicznie do kroku 5 zainstalowac prawe gérne orurowanie (Rys. 5 pkt. 11).

(Dokreé wszystkie Sruby mocujgce gmole oraz nakretki na szpilce silnikowej. /




Instrukcja montazu gmoli dla / Crash bars installation instruction for @

BMW R 1200 GS Adventure (2014)

Lower piping

1. Left lower piping.

2. Right lower piping.

3. Engine bolt 12x380 mm with 2 spacer sleeves 65 mm, washers and
nuts.

. Bolt M8x60 mm with spacer sleeve 32 mm and washer.

. Bolt M10x60 mm with spacer sleeve 16 mm and washer.

. Bolt M8x30 mm with washers and nut.

. Bolt M8x40 mm with spacer sleeve 16 mm and washer.

. Bolt M10x50 mm with spacer sleeve 12 mm and washer.

. Bolt M8x55 mm with spacer sleeve 26 mm,washers and nut.

O 00 NO U

Upper piping (available only in Full Bunker set)
10. Left upper piping.

11. Rught upper piping.

12. 2 bolts M8x10 mm with washers.

Q 2 bolts M8x20 mm with washers and nuts. /

M=

www.heed.com.pl

G)ing should be installed only by a qualified person. \

Pay particular attention to the electric beams, brake hoses and rubber hoses for engine
cooling, so that they are not pinched or they doesn't chafe during operation due to
wrong installation of piping.

During installation it is recommended to set up piping freely.

1. Uninstall original crash bars.
2. Remove original engine bolt and replace it with engine bolt 12x380 mm with spacer
sleeves from the set (Fig. 1 and 2 pt. 3).
3. Instal left lower piping (Fig. 1 and 2 pt. 1):
- in the rear upper part place it on installed in step 2 engine bolt (Fig. 2. pt. 3),
- in front lower part screw it using M8x60 mm bolt with spacer sleeve 32 mm (Fig. 3
pt. 4),
- in rear lower part screw it using M10x60 mm bolt with spacer sleeve 16 mm (Fig. 2
and 3 pt. 5),
- in front upper part screw the piping using M8x30 mm bolt with washers and nut (Fig.
4 pt. 6).
4. Install right lower piping (Fig. 1 and 5 pt. 2):
- in the rear upper part place it on installed in step 2 engine bolt (Fig. 5 pt. 3),
- in front lower part screw it using M8x40 mm bolt with spacer sleeve 16 mm (Fig. 5
pt. 7),
- in rear lower part screw it using M10x50 mm bolt with spacer sleeve 12 mm (Fig. 5
pt. 8),
- w in front upper part screw the piping using M8x55 mm bolt with washers and nut
(Fig. 6 pt. 9).

If you have only lower crash bars in the set, skip steps 5 and 6 and go to step 7.
5. Install left upper piping (Fig. 9 pt. 10):
- in the rear lower part place piping on installed in step 2 engine bolt (Fig. 9 pt. 3),
- in front upper part screw the piping using M8x10 mm bolt with washer (Fig. 7 and 9
pt. 12),
- in front lower part screw the piping to the lower piping as it is shown on pictures
using M8x20 mm bolt with washers and nut (Fig. 4, 8 and 9 pt. 13).
6. Analogously to step 5 install roght upper piping (Fig. 5 pt. 11).

QTighten all the bolts and nuts holding the piping. /




Instrukcja montazu gmoli dla / Crash bars installation instruction for

BMW R 1200 GS Adventure (2014)

M=

HEED

www.heed.com.pl




Instrukcja montazu gmoli dla / Crash bars installation instruction for

BMW R 1200 GS Adventure (2014)

N I
{l"l::l-l \
www.heed.com.pl




